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0249 20lld sSHNZEAISSE /A

A A

& 200 M2l=¢
2 210 FHEANLA=
g 211 et i=¢] EER=ED
Z.4-8.3 Ol &F oo & = 0f Ak HnsZ
ES Al 1,151,041 1,058,641 92,400
200 M2l 249,800 237,800 12,000
210 B&EA+L 239,000 227,000 12,000
211 Aty == 20,000 20,000 0
21102 SRMASU= 20,000 20,000 0
< BHMOH R > 20,000 20,000 0
OIMA SAIAL JIXI= s 3,000,000 14! 3,000
OCEEHEL|EI2 U= 17,000,000 x 14! 17,000
212 M2 216,000 204,000 12,000
212-09 JIEtAIE = 216,000 204,000 12,000
< ZHI0oE X2 > 216,000 204,000 12,000
O=3H Ha=XMol& 224 223
18,000,000& »12& 216,000
216 Ol Kt==¢ 3,000 3,000 0
21601 SZ0W=0IX== 3,000 3,000 0
< ZHOIHRIZ > 3,000 3,000 0
Oz30= 0lXt== 1,500,000& *22! 3,000
220 A EAIL == 10,800 10,800 0
224 J|Et==¢ 10,800 10,800 0
224-07 12142 10,800 10,800 0
< ZHOUAXI B > 10,800 10,800 0
O=3EX Ha-SLH2E Ald X3
900,000 » 12& 10,800
700 EM=LSLUEHN 901,241 820,841 80,400
710 28U S 34,253 290,991 N2H6,738
1M 2= 34,253 290,991 N256,738
71101 =AAL 02 34,253 290,991 N256,738
< ZHNH R > 34,253 290,991 A256,738
O=NAHLN= 34,253,000+ 14! 34,253
720 LHSO1cH 866,988 529,850 337,138
721 M2 866,968 529,850 337,138
721-03 JIEtSI AN Y = 866,988 529,850 337,138
< MR > 866,988 529,850 337,138
OLea A= 866,983,000+ 14! 866,988
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20243 204 SSEHXZEALEESIH A

S BHI0IUH X 2

*H -« L7 f—
Hu: 5BOX| I8 Y 29
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ol SRONEA 2 SYKH(SRUXTLALSHEIH) (crof:m9l)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
Z R0l LA Xl 2t 1,151,041 1,058,641 92,400
s3HA 24 2 29 1,151,041 1,058,641 92,400
s3HANZTY & 2NN (sSHRAEZLHAILSHSIH) 1,151,041 1,058,641 92,400
S3HX Ha-3Y XMelAld 2= 149,000 121,000 28,000
201 -2 AY| 25,000 25,000 0
01 AR2t2ld] 25,000 25,000 0
O=HAALAIMA(M) BEZA =2
5,000,000 » 14 5,000
O+ZIAAZAIMA(TMS) AE L A2F 2L
20,000,000 *14! 20,000
401 AIEHIL S| 124,000 96,000 28,000
01 AlEYI 124,000 9,000 28,000
O33H=XelAd =Al B
100,000,000 * 14! 100,000
OFZAAZAIMAH(MS) FXI2IES
2,000,000& = 12& 24,000
S3HA JEAIE A2 20,000 50,000 230,000
401 AIEHIZ 20| 20,000 50,000 230,000
01 Al&HI 20,000 50,000 A30,000
O=SHAX JIBAIE FXI2t2]
20,000,000 *14] 20,000
S3SHA H-SLUXEAE /E2F 967,641 867,641 100,000
201 23| 168,000 168,000 0
02 332gHt| 168,000 168,000 0
O3SH=XMelANd 28 S323
14,000,000 122 168,000
307 2Iz2+01 ™ 799,641 699,641 100,000
05 eItRE 3 799,641 699,641 100,000
O=3HX SZH=HM2IA4 A2
66,636, 7503 *12& 799,641
S AE2Z 9,400 10,000 2600
201 Let24EH| 8,000 8,000 0
01 A2 22l 8,000 8,000 0
O=3HX AE 28 € A58 72
2,000,000&*12l 2,000
OZRANLUZ(EERNAEE)
3,000,000 14 3,000
O=s=HA M&xe Hdl Xt
3,000,000 *14] 3,000
202 O4d| 1,400 2,000 A600
01 =W GBI 1,400 2,000 2600
O=sEHA BRFA 0|
100,000 *2H +73] 1,400
S3H=TXelAlE Aot BA2t2| 5,000 10,000 A5,000
401 Al HIZL20HY] 3,000 5,000 A2,000
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ZHI0ILH X1 2t

B S2OK X4 U 29
o9l STENTH o SYNH(SDUXTLARSE5I) (crol m21)
- PSlE]
SN - - GR(3H) - NRAY - BES 04l o s HIDE2
01 A&t 3,000 5,000 A2,000
OBIJHAFH2IAE 21 AAAFAIL H|
3,000,000 *14] 3,000
405 THAF S| 2,000 5,000 3,000
01 AL ESF S| 2,000 5,000 3,000
Ol ZE F¢ 2,000,000 *14] 2,000

- 791 -






